　　　國民小學 國語科 解析卷(簡)   年   班  座號：     姓名：        

改錯字
 EQ \O(\S\do 0(１)) 答案：鷹

 EQ \O(\S\do 0(２)) 答案：荒

 EQ \O(\S\do 0(３)) 答案：塞

 EQ \O(\S\do 0(４)) 答案：畝

 EQ \O(\S\do 0(５)) 答案：價

 EQ \O(\S\do 0(６)) 答案：愣（或）楞

 EQ \O(\S\do 0(７)) 答案：樁

 EQ \O(\S\do 0(８)) 答案：鐵

 EQ \O(\S\do 0(９)) 答案：鷹

 EQ \O(\S\do 3(１),\S\do -3(０)) 答案：餵

 EQ \O(\S\do 3(１),\S\do -3(１)) 答案：襪

 EQ \O(\S\do 3(１),\S\do -3(２)) 答案：閉

 EQ \O(\S\do 3(１),\S\do -3(３)) 答案：艦

 EQ \O(\S\do 3(１),\S\do -3(４)) 答案：桐

 EQ \O(\S\do 3(１),\S\do -3(５)) 答案：閉

 EQ \O(\S\do 3(１),\S\do -3(６)) 答案：莉

 EQ \O(\S\do 3(１),\S\do -3(７)) 答案：賤

 EQ \O(\S\do 3(１),\S\do -3(８)) 答案：鑰

 EQ \O(\S\do 3(１),\S\do -3(９)) 答案：吩

 EQ \O(\S\do 3(２),\S\do -3(０)) 答案：惠

 EQ \O(\S\do 3(２),\S\do -3(１)) 答案：謾；怔；誡；惑；嚥

解析：獌(謾；鉦(怔；誠(誡；禍(惑；讌(嚥。

 EQ \O(\S\do 3(２),\S\do -3(２)) 答案：託

 EQ \O(\S\do 3(２),\S\do -3(３)) 答案：盼

 EQ \O(\S\do 3(２),\S\do -3(４)) 答案：怔

 EQ \O(\S\do 3(２),\S\do -3(５)) 答案：誡

 EQ \O(\S\do 3(２),\S\do -3(６)) 答案：匠

 EQ \O(\S\do 3(２),\S\do -3(７)) 答案：嚥

 EQ \O(\S\do 3(２),\S\do -3(８)) 答案：姆

 EQ \O(\S\do 3(２),\S\do -3(９)) 答案：餵

 EQ \O(\S\do 3(３),\S\do -3(０)) 答案：閉

 EQ \O(\S\do 3(３),\S\do -3(１)) 答案：翱

 EQ \O(\S\do 3(３),\S\do -3(２)) 答案：翱

 EQ \O(\S\do 3(３),\S\do -3(３)) 答案：嘹

 EQ \O(\S\do 3(３),\S\do -3(４)) 答案：閉

 EQ \O(\S\do 3(３),\S\do -3(５)) 答案：瑩

 EQ \O(\S\do 3(３),\S\do -3(６)) 答案：懸

 EQ \O(\S\do 3(３),\S\do -3(７)) 答案：嗜

 EQ \O(\S\do 3(３),\S\do -3(８)) 答案：蘋

 EQ \O(\S\do 3(３),\S\do -3(９)) 答案：竭

 EQ \O(\S\do 3(４),\S\do -3(０)) 答案：謾

 EQ \O(\S\do 3(４),\S\do -3(１)) 答案：禱

 EQ \O(\S\do 3(４),\S\do -3(２)) 答案：磚

 EQ \O(\S\do 3(４),\S\do -3(３)) 答案：茅

 EQ \O(\S\do 3(４),\S\do -3(４)) 答案：廊

 EQ \O(\S\do 3(４),\S\do -3(５)) 答案：黛
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